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alphal3_4eX1X:cyclenum {run == 6713}
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deltad46_12X4eY:cyclenum {run == 6713}
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cyclenum
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alpha46_4eY4aY:cyclenum {run == 6713}
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run:cyclenum {run == 6713}
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deltal3_12X4eX:cyclenum {run == 6713}
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cyclenum

segment:cyclenum {run == 6713}
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cyclenum
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usl_1X:cyclenum {run == 6713}
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cyclenum

usl_4eY:cyclenum {run == 6713}
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cyclenum
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usl_4aY:cyclenum {run == 6713}
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usl_12X:cyclenum {run == 6713}
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usl_4eX:cyclenum {run == 6713}
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run:cyclenum {run == 6713}

6711

6851 6851.2 6851.4 6851.6 6851.8 6852

cyclenum




USI_L1A

usI_aey

=

0.5

usr_1X:cyclenum {run == 6713}
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usr_4eY:cyclenum {run == 6713}
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cyclenum
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usr_4aY:cyclenum {run == 6713}
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cyclenum

usr_12X:cyclenum {run == 6713}
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cyclenum
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usr_4eX:cyclenum {run == 6713}
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cyclenum

run:cyclenum {run == 6713}
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usl_coill:cyclenum {run == 6713}
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usl_coil6:cyclenum {run == 6713}
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usl_coil3:cyclenum {run == 6713}

[

usl_cols

0.5

6851 6851.2 68514 6851.6 6851.8

6852
cyclenum

usl_coil7:cyclenum {run == 6713}
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usl_coil4:cyclenum {run == 6713}
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cyclenum

run:cyclenum {run == 6713}
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usr_coill:cyclenum {run == 6713}
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cyclenum

usr_coil6:cyclenum {run == 6713}
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cyclenum

usr_coil3:cyclenum {run == 6713}
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usr_coil7:cyclenum {run == 6713}
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usr_coil4:cyclenum {run == 6713}
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cyclenum

run:cyclenum {run == 6713}
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1X_coill:cyclenum {run == 6713}
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cyclenum

4eX_coill:cyclenum {run == 6713}
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cyclenum
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1X_coil3:cyclenum {run == 6713}
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cyclenum

4eX_coil3:cyclenum {run == 6713}
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4eX_coil7:cyclenum {run == 6713}
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4dY_consd

4eY_cond

4aY_coild:cyclenum {run == 6713}
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cyclenum

4eY_coild:cyclenum {run == 6713}
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4aY_coil6:cyclenum {run == 6713}

6851 6851.2 68514 6851.6 6851.8

6
cyclenum

4eY_coil6:cyclenum {run == 6713}
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4aY_coil7:cyclenum {run == 6713}
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4eY_coil7:cyclenum {run == 6713}
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12X_coill:cyclenum {run == 6713}
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12X_coil6:cyclenum {run == 6713}
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12X_coil7:cyclenum {run == 6713}
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12X_coil4:cyclenum {run == 6713}
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run:cyclenum {run == 6713}
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